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Note :

@

(i)

() ¥ ye SR &, 99 § @ et wla & 3o e
Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) FEF 99T & G 9N F FHIR T G §F Ford |
Solve all parts of a question consecutively together.
(iii) ¥ T H 79 78 @ IR Ffd |
Start each question on fresh page.
(iv) @ ST ek 817 1 e 7 A sgaR @ e 8 1
Only English version is valid in case of difference in both the languages.

H1a Sfer=ad &1 aHemET |
Explain work sampling.
IS @) aitaTfi HRT |
Define standardization.

(iii) wrt Fraio = @wsmg |

@)

™

®

Explain routing.

FIAA FRATR ?

What is obsolescence ?

IS T IeuTeshal § 3T T HRT |

Differentiate between production & productivity. (2x5)

SR % afenia HIRT Fa e THIRG F T HIH B THART |

Define scheduling & explain various factors affecting it.
(1 0f4) P.T.O.
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(i) Toreh weiee & forn feifera famor femman g |
frm iy fqt
i-j | ST To | SfEwRa Tm | FremEr Tp
7-5 3 5 13
7-6 1 2 15
5-4 6 7 8
5-3 2 4 12
6-4 2 5 14
4-2 4 6 8
4-3 5 9 13
2-1 1 2 3
3-1 1 4 7
(a) IR a9 |
(b) hifas g F1a HIfT |
(0 WNiee TmEfy H ToE KR |
For a project following data’s are given :
Activity Duration in days
i-j Optimistic Most likely Pessimistic
Time To Time Tm Time Tp
7-5 3 5 13
7-6 1 2 15
54 6 7 8
5-3 2 4 12
6-4 2 5 14
4-2 4 6 8
4-3 5 9 13
2-1 1 2 3
3-1 1 4 7

(a) Draw project network
(b) Find critical path
(¢) Calculate project duration

Tt s e 3 fore w wenfia i |

Derive formula for economic ordering quantity.

1082

(6+6)
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(i)

4. O
(i)
5. (@)

Wer ¥ U anfl Y IJUPT H1 20 TH1E Tfaad ] | AW S 7 W 74 H A
T 40 % | 7 wfer 3or wwra T 100 T S%g  Fed v Wi 16% & Fen 9
Fga wie W Fft wrht § | 710 fre -

(a) Toraerft arvefem W |

(b) T TG IR A

(c) afe 3T wn 3 Ug A A [: onew fag ;ma i |

Annual consumption rate of an item from store is 20 units. Procurement cost is

T 40. If the cost per piece is T 100 & inventory carrying cost is 16% per year & it
depends on average stock, find out : ‘

(a) Economic ordering quantity

(b) Total inventory cost

(¢) Iflead time is 3 month then find out re-order point (6+6)

ofel a5 AT an i o HIRT -

QeAuit <l el A — 2500

HRIHR! Jeurt i G&T — 2100

100 &9 Y 3rafes & earfea i i FE — 6000
sifdreht w1 31U — 2/3

a3 - 173

YfdFa etieh TUTS (Rating Factor) = 115%
T E9Y 19 B2 = 12%

Calculate standard time per piece :

No. of observations = 2500

No. of working observations = 2100

No. of units produced in 100 Hrs = 6000
Ratio of labours = 2/3

Ratio of machine = 1/3

Observed rating factor = 115%
Time allowance of normal time = 12%

AT T 18 1 guia HIRTT aUT sEeh! ITFFTar gussy |

Explain Man machine chart & its importance. (6+6)

T & T 997 ) I A I1 HIEh! i Forr & a9es |

Explain in detail the factors affecting the site selection of a plant.

P.T.O.
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6.

(i) TS SREHA W= HI IR @ T 2,00,000 T 20 T ITEIG USR] AT o
% 20,000 & | fE 3want 10 3 w¥=q 2 1,45,000 & &= T A anffes Thafe S R
8% wa gu e Fifts qeersm fafty @ 4 segu i frarem arafi g8
An industrial plant with initial cost of ¥ 2,00,000 & the salvage value of ¥ 20,000
at the end or 20 years was sold for ¥ 1,45,000 at the end of 10 years. What is the

profit or loss if sinking fund depreciation method at 8% compounded annually
was adopted ? . (6+6)

() w=s fl A agrE @ B FOR U@ 995 Tellet Y Sy % arss |

With the help of neat sketches explain working of screw conveyer & bucket
elevator.

@) urh fafy @ a1 hifv
e z=3x, +2x,

s 2%, —x,22
X +2x,<8
X1, %,20
Solve the following by graphical method :
Maximize z=3x+2x,
Subject to 2, —xy22
x +2x,<8
X, %20 (6+6)

() iz fFad TER % B ? 7 foreaw & wwEms )
What are the types of inspection ? Explain in detail.
(i) ~3heC TireeA Je ao Qe wfe =a QST B IR |
Explain single sampling plan & double sampling plan. ‘ (6+6)

o 4 & ol ol v wifr froaoft forfae -
Write the short notes on any three of the following :
() @R
SIMO Chart
() X-R¥E
X R Chart
(iii) waTg 3@
Flow Diagram
(iv) TR Ei
Gantt Chart (4x3)



